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State with reasons whether the lease constitutes finance lease and also

compute the unearned finance income.

(b) A company is showing. an intangible asset at 7 88 lakhs as on 3
01.04.2013. This asset was acquired for % 120 lakhs on 01.04.2009 and.
the same was available for use from that date. The company has been
following the policy of amortization -of the intangible assets over a
period of 15 years on straight line basis. Comment on the accounting
treatment of the above with reference to the relevant Accounting

Standard.

(c) Stem Ltd. purchased a Plant for US$ 30,000 on 30™ November, 2013 5
payable after 6 months. The company entered into a forward contract
for 6 months @ T 62.15 per dollar. On 30" November, 2013, the

exchange rate was ¥ 60.75 per dollar.

How will you recognise the profit or loss on forward contract in the

books of Stem Ltd. for the year ended 31 March, 2014 ?

(d) WZW Ltd. is in dispute involving allegation of infringement of patents 5
by a competitor company who is seeking damages of a huge sum of
Z 1000 Lakhs. The directors are of the opinion that the claim can be
successfully resisted by the company. How would you deal the same in

the Annual Accounts of the company ?
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5. (a) Metro General Insurance Company submits the following information

for the year ended 31* March, 2014 : g
Particulars Direct Business | Reinsurance
(9) ®
Premium received 75,25,000 8,25,000
Premium paid - 4,90,000
Claims paid during the year 49,70,000 5,10,000
Claims payable :
1¥ April, 2013 6,85,000 95,000
31* March, 2014 7,38,000 70,000
Claims received - 3,95,000
Claims receivable :
1¥ April, 2013 - 75,000
31" March, 2014 - 1,25,000
Expenses of Management 2.90,000 -
Commission :
On Insurance accepted 1,60,000 15,000
On Insurance ceded - 18,000
The following additional information are also available :
(1) Expenses of Management include T 45,000 Surveyor’s fees and
T 55,000 Legal expenses for settlement of claims.
(2) Reserve for unexpired risk is to be maintained @ 40%. The
balance of Reserve for unexpired risk as on 01.04.2013 was
T 28,40,000.
You are required to make the Revenue Account for the year ended
31% March, 2014 |
P.T.O.
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(b) A commercial bank ‘has the following capital funds and assets. §
Segregate the capital funds into Tier I and Tier II capitals. Find out the
risk adjusted asset and 'risk weighted -asset ratio. State your observation

on the risk weighted asset ratio.

L Amount
Particulars )
(X in crores)
Equity Share Capital .. A ' 400.00
Statutory Reserve - 250.00
Capital Reserve (of which ¥ 18 crores were due to 86.00

revaluation of assets and the balance due to sale of

capital assets)

Assets :

Cash Balance with RBI : 12.00
Balance with other Banks i 20.00
Other Investments 40.00

Loans & Advances

(i) Guaranteed by Government 14.50
(if) Others 5,465.00
Premises Furniture & Fixtures 74.00

Off Balance Sheet Items

(1) Guarantees and other obligations 700.00

(ii) Acceptances, endorsements and letter of credit 4.900.00
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(b) Mega‘ Ltd. has two departments, A and B. From the following 8 :
particulars, prepare departmental Trading A/c and General Profit & ‘
Loss Account for the year ended 31* March, 2014. :

Amount (I)
Particulars Department | Department
A B I
Opening stock as on 01.04.2013 (at cost) 70,000 54,000 1
Purchases 3,92,000 2,98,000
Carriage Inward 6,000 9,000
Wages 54,000 36,000
Sales | 572000 | 460,000
Purchased Goods Transferred : |
By Department B to A 50,000
By Department A to B 36,000
Finished Goods Transferred :
By Department B to A 1,50,000
By Department A to B | 1,75,000
Return of Finished Goods : |
By Department B to A 45,000
By Department A to B 32,000
Closing Stock :
Purchased Goods 24,000 30,000
Finished Goods 1,02,000 62,000

Purchased goods have been transferred mutually at their respective
departmental purchase cost and finished goods at departmental market
price and that 30% of the closing finished stock with each department
represents finished goods received from the other department.
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7. Answer any four of the following : 4x4
Give two examples of each of the following items : -lg
(i) Change in Accounﬁﬁg Policy
(i) Change in Accounting Estimate
(ii1) Extra Ordinary Items
(iv) Prior Period Item |
What are the indicators of Non-Integral Foreign Operation (NFO) ? 4
4

(c)

In the following list of shares issued, for the purpose of calculation of
weighted average number of shares, from which date weight is to be

considered :
(i) Equity Shares issued in exchange of cash,

(i) Equity Shares issued as a result of conversion of a debt

instrument,

(iii) Equity Shares issued in exchange for the settlement of a liability

of the enterprise,
(iv) Equity Shares issued for rendering of services to the enterprise,

(v) Equity Shares issued in lieu of interest and/or principal of an other

financial instrument,

(vi) Equity Shares issued as consideration for the acquisition of an

asset other than in cash.

Also define Potential Equity Share.

YRP P.1.0.
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(d) Find out the income to bé‘fecognised by ABC Bank Ltd. for the year
ended 31* March, 2014 in Tespect of interest on advances [ ¥ in Lakhs]

as detailed below :
Performi'lig" Asset N.P.A.

[L Interest | Interest | Interest | Interest

i _ earned | received | earned | received
Term Loan 280 180 170 20
Cash credits and overdrafts | 1700 | 1630 310 48
Bills purchased and 400 | 400 180 70
discounted .

(e) State any four alternative accounting treatment of the fund received by

an Electricity Company from consumer towards capital expenditure/

service line contributions.
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